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N & 0l & Av S Z M A
20158 = =3 2 3] LESIH JIEHT At
AN JIEZ AL
g S8 xdE Jlsds
©9: BIGtD FYS BHAS X4 EERED
SA-EB - BAEH) - NRAY - BHES 0l & o p/E-F HIDE2
Il 2 AtA 4,463,890 7,740,221 A 3,276,331
Xl 160,000 0 160,000
=) 7,000 7,000 0
s 4,296,890 7,733,221 A 3,436,331
S XE JlsZst 1,446,431 1,526,431 A80,000
< 7,000 7,000 0
= 1,439,431 1,519,431 80,000
8oty FEe XA x4 98,030 178,030 80,000
A ABlA 2tel 59,700 139,700 80,000
305 & =S 20,000 100,000 80,000
o1 Hia=s 20,000 100,000 80,000
O8I HHa = 20,000 100,000 A 80,000
AEHER2E 285,073 270,073 15,000
=SsH80 HE2Y 285,073 270,073 15,000
=Zgd g9 N 194,700 179,700 15,000
201 L Er2 A | 78,000 63,000 15,000
01 At 22l bl 78,000 63,000 15,000
OzZHLIEHAXNE 45,000 30,000 15,000
ME+=2 O 2,224,066 5,144,293 AN2,920,227
X 160,000 0 160,000
s 2,064,066 5,144,293 A 3,080,227
0l 1 8l 2,224,066 5,144,293 A2,920,227
Xl 160,000 0 160,000
s 2,064,066 5,144,293 A 3,080,227
ol g1yl 2,224,066 5,144,293 A2,920,227
Xl 160,000 0 160,000
[ia 2,064,066 5,144,293 A 3,080,227
801 olBIBI 2,224,066 5,144,293 A2,920,227
Xl 160,000 0 160,000
s 2,064,066 5,144,293 A 3,080,227
01 etoiidl gl 770,281 1,825,324 A 1,055,043
Ogetolidltl 770,281 1,825,324 A 1,055,043
Xl 160,000 0 160,000
[ia 610,281 1,825,324 A 1,215,043
02 THoH - THE= = olidl bl 1,453,785 3,318,969 A 1,865,184
Ooll Het=A oldldl 1,453,785 3,318,969 A 1,865,184
MEES(IIE2AA) 408,896 700,000 A 291,104
RSN 408,896 700,000 A 291,104
EX3 gt 408,896 700,000 A 291,104
802 gH& = DI EF 408,896 700,000 A 291,104
01 I DEBXSHE= 256,808 500,000 N 243,192
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SA: JIEZAA
M WRES(OI22AE)
¢ BEXS (&2 d &)

SN HH - (EH) - HRAY - BES 0l & p/E-T Hl DS 2
O=21Exz pre 256,808 500,000 N243,192

02 Al - EHIEXZSEEZ 152,088 200,000 ANAT,912
THIEXZ BHE 152,088 200,000 ANAT,912
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